

	1 st	3 rd
81-87 → A		
74-80 → B	 	
63-73 → C	 	
56-62 → D		
55 ↓ → F		

87*.84	80.91
87*.72	73.08
87*.64	62.64
	55.68

18. $(\underline{6+8})(\underline{8+5}) \div 2$
 $(\underline{14})(\underline{13}) \div 2$
 $\underline{182} \div 2$
 $\underline{\underline{91}}$

$$19. 4[5+3(\underline{6+8})]$$

$$4[5+3(\underline{14})]$$

$$4[5+\underline{42}]$$

$$\underline{4[47]}$$

$$\underline{\underline{188}}$$

$$\begin{array}{r}
 14. \quad 7+6-3+2 \\
 \quad \quad \underline{\quad} \\
 \quad \quad 13-3+2 \\
 \quad \quad \quad \underline{\quad} \\
 \quad \quad \quad 10+2 \\
 \quad \quad \quad \quad \underline{\quad} \\
 \quad \quad \quad \quad 12 \\
 15. \quad 5(6) \quad \underline{4} \quad \underline{2}
 \end{array}$$

$$21. 3a^2 - (c + b)$$

$$3(2)^2 - ((1) + (5))$$

$$3(2)^2 - (6)$$

$$3 \cdot 4 - (6)$$

$$12 - 6 = \underline{\underline{6}}$$

38. $36 \div (-9)$

$$\frac{\cancel{36}^4}{1} \cdot \frac{1}{\cancel{-9}_1} = \frac{4}{-1} = \underline{\underline{-4}}$$

$$40. \quad -78 \div \left(\frac{-6}{5} \right)$$

$$\frac{\overset{13}{\cancel{-78}}}{1} \cdot \frac{5}{\cancel{-6}1} = \frac{65}{1} = \underline{\underline{65}}$$

$$43. \left(\frac{32}{7} \right) \left(\frac{35}{8} \right)$$
$$= \frac{20}{1} = \underline{\underline{20}}$$

$$45. \quad 4(2y+3) + 5(y-1)$$

$$4(2y) + 4(3) + 5(y) - 5(1)$$

$$\underline{8y} + \underline{12} + \underline{5y} - \underline{5}$$

$$\underline{\underline{13y + 7}}$$